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Section A (25 wmarks)
Questions 1 ta S carry 1 mark each. Questions 6 to 15 carry ? marks each. Choose the corect
answers and shade your answers in the Optical Answer Sheet provided,

i. Find the value of 20 + ‘10\4*2

(1) 40
(2) 58
(3) 60
(4) 118

2. What is the reading indicated on the weighing scale beiow?

(1) 20.15 kg
) 20.3 ke
(3) 21.5 ke
(4) 23 kg

3. There is one pair of paralie] linss in the tigure. They are

1) AF and CD.
(2) BC and BF
(3) BCand CD
(4) AB and AF



4. 3206 km is the same as T,

5. Atasale, Rose was given a dizgount of $4 far a book which was sold at $20. How many
percent was the discount? -

() 20
2y 23
() 75
(ay

. [ o —
6. Express — hout us afrachon of 15 minutes.
-
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7. Avecianguiar pivee of papey was folded to become 2 hollow eylindrical tube as
stitown below. :

Gricumnfergnes = 220m
¥

\
.4
)
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1 the cireumference of the mbe is 22em, find the area o the rectangular piece of
pape:,




8. The pie chart below shows the amount of money Demick spent on various things.

{ Books 15%

Ll Clothes $250
Shoes ) /

e A

How much money did he spend on the bag”

’j‘)

(1)
@)%
(3) S
4) S

37.5
50
5

12

9. Mrs Lee had $in left after buying two watermelons that cost $2.50 each.
How much money did she have at first? ' '

(1) $(m ~2.50)
(2) $(m - 5)
(3) $(m +5)
(4) $(m + 2.50)

2 A
10. — of Liling’s money equals to 30 of Benny’s. Express Liling’s money as a
3 i R
1) 3:5
(2) 2:8
(3) 3:10
(4) 3:15

11, 250 g of tomatoes cost $0.55, Jenny paid $6.60 for a packer of tomatoss.
What was the weight of the tormatess she boughi?

(1 zkg
(2) . z,—- kg

(3) 3 kg
(4) 6kg

’1\) '_\L BelulV S



12. Inthe figure be.ow, ARCD
Find angic ERF,

,» e
N 36° 3
A - i
™~ ,_/" /
- \“\, //’ ’ 7/
..
- \

(3% 52° ~
(2) §ge 2
() 92°

(4) 124°

13. If the arca of 2 square s morsased by 300%, by what p

ix a parallelogram and ECI e a straigh

nta

14, Sharifah walkee at 4 km/h and tOuk * hpur to reach the oo
4

4
t
<

line.

3

ge 1s the side of the squar

chool. Tf shs walked

1 km/n stowet, how fong wonld she take to reach the sehool?
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prizes. What fraction of the people
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Seetion B (20 marks)

Questions 16 to 35 carry 1 mark uach Write your answer in the blank space provided. Give vou:

answers in the units stated.

16. 40110g +15kg=

ANSWer: L Ky
17.  Express §2 as 2 percentage of $50.
Angwear _
18.  Vind the difference between the values of the digit"3” 37 200 and 73 200
Answer:

19.  Express3 ?}

— as a dseimal. Round off your answer to 2.

decimal piaces.

Answer:

—— Na

20.  Simplify 8a+6—d4a—4.

Answ

o




21,

e,

Find the area of tnangle POR
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Answer: ) cm

E
| | ;

1
/ 5

1

A iz the mud vownt beivvesn — and - What 13 the valus of A?
X v

7

(A ] s

Anvower:

A cartonn programune ended at 3.20 pau. Tt lasted for 45 minutes,

At what fime 4i3 the cartoon start showing?

Answer: pro

24,

~

Yip Seng saved an averaze of 65 cents a day. Heow mush would he save 1n 26 days?

¢

Ai'!_;:\.\)éfi S

e




Ailing earns 3¢ for every apple sold. If she sells 125 apples it 2 hours, how mueh could
she earn in 8 hours?

Answei §

The diagrem below shows a running track which is made up of v rectangle and 2 sem-
circles. What is distance covered by Joshua if he jogs round it ance? (Take n = 3.14)

S T

) { t

SRS * \
L 00 m f ;
o ‘ /
% s

Answer: e

All walks 420m from home tu school at & speed of 35 m/min. How long does he take .
reach the school?

Answer __h
Find the value of p"+ 2p + 4 when p= 5.
Answer - -
29, 22 out of 40 pupils pack their bags reguiarly. Wha' i the pereentnge of the puptls who

pack their bags regulaily?

Arswen A




30.  Rosemixes 400ml of camot juice with 1.4/ of orange nice 1o prepare a drink. What is the
ratio of the camept juice 1 the orange juice used?

Answer;

31 Jim and Peter share $200 in the ratio of 3 : 2. How wuch money ruust Jim give Peter <o

pAw)
Y b

that the ratic tecemss 2 . 32

Answer: $

32, Inthe figure below, XY 1s 8 straight line. 1L a= 2 b, find £ a.

«._\“ \\
\‘\ A
AN

| ‘\\}}\\
X Y . Z

uze

Anwway i LS
13, Measurs 2t and write down iis size.
/,
e
Llx :\'L\"w
—
Answer: o




34, Complete the figure below so that the dotted line PO is the line of symmaetry.

P

[

35. Study the tessellation below careiully.
Shade the unit shape that does not fit o it.

. Y “ = - P — - /
: L
. I A
I .
3 ,___7 7)7 r_ _T
S N
U
{ 2 {
. s S
# b |
- l’i 4 kY
2 - oo
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. - d N




Section € {55 marks
Write your answers to questions 38 10 50 in the space provided. For each question, show your
working in the space bsiow i The number of marks allocated is shown in the brackets { ] at the

end of each quesiion or part-aaestion.

N
36, Jenny scllected a sertaw number of stickers. After buving another 2-- times as maay
= _ ]

Yoy
Virte
7FR
i

sticksrs as she had, she now has J(@}‘ 35 stickers. Hlow many stickers did she bave at
first? f =t
Answer: ~ 2=

37, During a promoton al & 200, svery §" Vicitor will be given 3 free admission ticker. How
many free admission tickets will be glven to a group of 90 visitors?




38. Five identical cubes are joined together as showrtin sotid A. If the total suctace ares of the
solid 1s 198¢cm?, find the volume of 1 cube. -

Sohd A

Answen

39." The table below shows the parking rate at ABCT shopping centre,

s

For the first hour or part thereof

&9
D

720

¢

For subsequent % hour or part
thereof

et

$0.90

Mrs. Lim paid $5.80 for parking at the shopping centye.
What is the longest time she could have parked her car at

0N oale-

Answer:

the shoppin



40, A rectangular ciece of paper is folded to form the shaps shown beiow,

Yind the penmeter of the rectangutar pisce of paper before 1 was folded,

Answar;

[

3,



41, The diagram below shows the different places in Happy Town. The four bold
represent the 4 main roads in the town.

School
L ibrary MET Station
\\
Playground e Shopping Centre
\\\-
N
\\\
L \
- N .
Post Office Petrol Kinsk

Market

tines

a) Adeline 1s facing the library, Where will she face if she nuns 90° anti-clockwise?

Answet: (a)_

1]

b) Another girl Rachael is facing the market afier making a 135° clockwise turn. Whers was she

facing before making the turn?

Auswer: (D)

fim)

¢y Samson is facing the hibrary. He wanls to ge to the shopping centa. Through

should he turn anti-clockwise to face the shopping cen'ie?

“

-~

[f

Answy

2 {e

/.
—r
o

uhat an

.




42. A rectangulas ank, 80cr: Hy 30cm by 40em, was hilted with "~ of water. The tap was
y U
tumed off. A rock of vohune 20000 cm?® was placed into the tank.

!

40 em
l

e &0 e
w % &G em —

_ e e o~
0 eny -7 ~

//
A 7

I/‘f

Qe

!

i

|

{
|
L
v oLl

a) Find the volume »f water that flowed out of the tank wher the rock was plased tito the tank.

[

Answer: (a)

b) The tap is tumed onceow. How long wiil it take 1o drain the tank if wzter is flowing out at &
rate of 4 litves/muint

e

Answer {b) . Ppe




43 Mrs Kumar bought 5 more pens than peacils. She spch g total of $45. Each penaticost §1.2
and each pen cost $0.60 more. How many peus and pencu\ did Mrs Kumar buy altogathe:?

Angwer {4}

— - L

£

44, There was, an equal amourt of red and green beans bn a basket, 0.2 of the fed beans and 30%;
of the —r'e—;\bvans were used up. If the amount of red end green beans leftis 6 kg, what wes the

weight o the red beans at first? i Give youranswer in Siams.

e

Answer:




b

45 The figure belaw shows a squars 0f side 28 em and 2 circles. P 1s the centre of the big ¢

46.

RN
35y -

Find the total area of the shaded parts. (Take 11 = fji)

Ansyver.

—_—— e

—Zatali Il Santhi gives § sweets to Zaiifah, Santhi and Zalifzh wiil then have an equal
Tmber of sweers. Find the average 1 mmbex of sweets the 3 of them have.

ol

[‘ia m.

Li d? has 20% 25 @ “/ sweets adSanthijwhereas Samfh i 125%% a3 manv Ewesls AN



E%

47. Mr Lim took a total of 4 hours to drive from Town A ta Town B. He travelled the first "5

r
(V3

DY

the journey at a speed of 96 kmm/h. "The next 0 of the jowmey ook him 70 min, At wha

speed did he travel the last part_ of the joumey if the average speed of the whole journey was
90 kn/h?

Answer S




48, The figwtre below ks mads up of' a taangle EFG overlapping a rectangle ABCD of are
360m3,

At M e B

]

!

P
v

v
3/3

— 2 e e \t:

~

I BT
— (o)

},1

A

o}

—

B e
=

y"/

p
P—

e ]Q m—>»

.4.__..

Ca

k

bt

Giventhat {H is -~ of 3Cand TJ 1t — of CD, find the area of the figure.

Ll y e

W]~

(V43

Answert T5m}




49. Zaltha saved some money ia the form of $2, $5 and §10 notes. The value of the §2,
: LA .
$5 and $10 notes was in the ratio of 3 = 10 : 5. After iaking out 3 of the 82 notes and 18

of the $5 notes to pay fora trip to Malacca, she had $240 left. ind the vaiue of the §10
notes that she had saved. |

Ansiver: ‘ 5




50.

2
5 boys and b girls shared 2 number ot drink coupons. The girls got 3 as marny coupons as

the: boys. Bach boy received 20 coupons more than each girl. How many mote coupons 434

. the boys recetve than the gitls?

Answerr R )it

END OF PAPER
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14) 2

15) 2

16) 41.61
17) 4

18) 270C0
19) 3.43
20) 4a + 2
21) 8

22) 6/35
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24) 16.90
25) 25
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J1 free admiszior ¢

o

27

o

3 hours

&) Poat Office

. b) MRT Station

431

A4

457

)
c) 225

3
a) 8000 ca
b) 25 min
23 pens and pencils

4000 x

7
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Section A { 25 marks )

Questions 1 to 5 tarry 1 mark each. Questicns 6 to 15 carry 2 marks vach.

For each quastion, four aptions are given. Osne of them is the correct answer. Make
your choice {1, 2, 3 or 4}, Shade the correctoval {1, 2, 2 or 4 on the Gntical Anawer
Sheet, )

N

Which ane of the foliowing is the tikely fime that John takes {0 complete his shuttie
run in the NAPRA {est?

{1} 1.2 zecords
(&) 12 seconds
(3) 1.2 minutes
(4 12 minutes

ABCD is 2 paralielogram. £ZADBC= 60° and £ZABD=25°, Find 2ZCBD.

A 7B

) 25
) 3

J ) i‘,‘ o
)

y
H

60°

Which solid will be Tormed by this net when folded?
./"rﬁ - \,.\
A
< h

3 DS

a pyramid
a cube

a cubnid



~I

A forry laden with goods was booked for spesding aiong the Pan Isiand
Expressway. At what speed was the loiry mast ikely to be traveiling?.

(1) 20 km/h
(2) 40 km/h
(3) 50 km/h
(4) 70 km/h-

The total age of Ali and his brother will be x years in 2 yaars ime.
What was their total age 2 years ago?

(n x-2
(2) x-4
3) x-6
4)  x-8

Look at the pattern below.

[OOnO00ORE0

‘1 . PRV

Ly

N e e

What would the 97" symbol in this pattern be?

(1) © ' R @
(3) ‘Zji} () (CS\’

What is the minimum number of cubes that can be formed from 2001 1-cm cuhes?/

(1) 1
@ =z
(3) 3
() 7

N



The pie chart below shows how Mr Lim spends his monthly saiary. He saves 12.5%, of
his monthly szlary., Use the pie chart to answer Q8 to Q10.

” ”"-M—‘-\\
.}J \\\\I
/ Personat
! exXnpenses
[ . :
| Family
% )
i expenses
\\\ P
N /
N~ T
What percentage of his salary does he spend on his family ?
( ) \, 87 .5%
2y T2.5%
{3y 82.5%
(4 25.6%

—_ . ‘ )

Evprass his totai monthily axpenses as a fraction of his savings.

7 AN 3
(4 =
2
(<€) T
5
SN >
LS o
1
.
@) -
if bis personal exper is $425, how much will na'save in half a year?
1y B170000
2y ®12V5.00
3)  $1062.50
4y 32250



12

. 1 A . o~ .
Madam Lee was given —of & cake. Madam Wu was given 50% less cake than
Madam Lee. Madam Chan took the rest of {he cake. What was the ratio of Madam
Chan’s share to Madany Lee's to Madam Wy's? '

1y 2014
) 2:2:1
(3) 1:1:2
(@) 1:2:1

This is the net of a cube.

——;—*_l

() ®

3y S (4




13 The figure shows two shaded rectangles in a square. The shaded parts have areag
of 2acm” and 36 em®, Find the length of the square.

e Lengths?

(ty. 24cm
(2)  12om
{3) Gom
4 ;‘;\' dom

14 The average age of 3 people is 21 years okl. ¥ they are at least 17 vears old

whatis the maximum age of the oldest person in the group?

e’ N N
R DO

(Lo pn BN

e e Rounidiatnd
PN =

15 25% of the pubils in 3 class-are girls. How many per centmere boys than girls are

tharg in the class?

My 80%
2y 75%
(3)  100%
() 200%

PR




Section B (20 marks)

Each question from 16 to 35 carries 1 mark. Write your answers in the spaces
provided. Give your answers in the units stated.

16 Using all the digits below, form the smafiest 4-digit number which is a muliinis of §
g _ .

6, , 5,

#*
Q

Ans:

How many whola numbers are there batweean 500 and 250

I

.‘-)

Ans,
18

Evaluate

Ans:
1@

Tom has totake 125 mi of covgh mixture each day, How many
days will a 150 mi bottle of cough mixture last?

- A
Al::g\

jol
v

P
yal



, ) |
20 - Find the perimote of the figure below.

i ey

T
p o !
e, ¢ K
Z icm! ; et
i
P
‘L j
| -

Ans:_ yiay

’ LN N
21 Find the area of a/quadraniwith a radius of 4cm
Leave youi answerdn.

Ang o

22 An eraser nosts 35 centa. What is the maximum number of
stich erasers vou ¢an buy with $2 72

Kelvin's waich was slowear than the actual time by 10 min. #the time by Kelvin's

watch was 2 85pm, wnat was the actual tma?

Ny
(93]

Ans:




The graph below shows the family size of the pupils in a ciass. Study the graph carefully
and answer Q25 and Q26

4
22
20 S
18l - Seel
Number 1 F’% T
14 :
Of 12 y ¥ i
pupils 1 e "
8 e
PN - - -
Gl e L
X &8
2’_— CRoART Y 5
%ﬁf‘i&[ R 2 E N

Family Size

25  Thereare . pupils in the class altogether.

26 The number of pupils with a family size of 4 is times those with 2
family size of 3.
ARG _ e
27 Paul is facing South-West. If he makes a —~1ur in the anti-clockwise dirgction

/...’*'f\ &4

3 BEEY . /'I . 1 . L. . - [T - i

followed by% “um in the clockwise direction, wiich cirection will he be fazipg
.

v
!




28 Linda folded a nght-angled triangle twice as shiown below.

to its onging! size. How many holes would she se

Ans:

In the figure nol drawn to scale, ABCD is a trapezium and CP=CB.
Calculate 280

N
O

Ans. °

30 Name an angle equalio Zx.

>
V4
=7 ®
2
% »
A AN
’/
/
/



31 The total age of three pupils is 42 years. Find their average age.

Ans:_ . years
32 —of Abel's savings is equal to -- of Benny s savings. What is the ratio of
3 ) .
Benny's savings to Abel’s savings?
Ans:

33 A machine can seal 1200 envelopes in 16 minutes. Atthis rate, hiow long will

it take to seal 3600 envelopes? (Give your answer (i hours)

Ars, . h

34 20% of = $30. Whatis answer in the box?

Ans: S

35  Simplifya+3-08a-+7a.

Anar

14\



SECTION G (55 MARKS)

For questions 36 {o 50, show your werking clearly in the space befow sach guestion
and write vour answers in the spaces provided.

The nuniber of marks avaiiable is shown in brackets () at the end of each guestion
or part quesiion.

B

. 1 - T e,
36 Unda spent — ol her money on Monday. She spert — of he remainder on

L1
4 A
Tuesday. What traction.of her meney was lefl?
Ans - {2

37 Howard paic 320 for a notebook and a story pook. i the story book
cost $3 more than the notebook. find the cost 6 one notebook.

AnNs.

11



. 38 Study the given line below. _
E is the midpoint of AB and F is the midpoint of CD. Length of AB = Length of CD.
AD =22 cm and BC =5 cm.

(a) Find the total length of AB and CD.
(b) Find the length of EF. '

Ansia) {(trn)
(O i)

39  Ina Mathematics quiz consisting of 20 guestions. 8 marks were awarded for &
correct answer and 4 marks deducted for a wicng answer. How inany correct
answers did Rarold give if he answered all the guestions and gol 80 marks?

Ang. . R 1Y




40  Study the namber pattern below.

4.
7 line

B\fi 2™ fine

1 + 1
1+ 2 2+ 1 el 2 line
442 4+ 3 4+ 4+ 3+ 2 + = 45 f'{rl'h fine
(a) Write own the 67 line'of the sequence,
{b) What iz the sum of the sequence of the 30™ iing?
Ans:(a) M)




41

Study the diagram below which is not drawn to scaie;

ABC is an isosceles right-angled triangle, AC 1s parallel to DE.

ZBJi=20° and £GIH = 28" Find £ DEG.

4

v P

/ 1/ \\

- i . 7 \

A .
A Ny
_ﬁj‘._\,\‘ﬂ._,__._.,_\'}_&
E i

1
B \
\ G
— ”__A.‘_.,._A,.,,,v.\ -
< o
~d o8°
TN & ‘
~iH
Any

am)



42 Mrs Marie bought some apples. She used half of thein pius one
more to make a pie. She then used half of the remainder pius one more
to make a pudding. She gave half of those that were left plus one more to
her children and had one left. How many apples did she buy at first®

Ans’ : _ _{4m)




43 The parking fees at Cheap Building from 7 am to 12 midnight is as
follows: -

e R0 =

E

¥ hour

Every-subsequent half hour or | $1.00

,ﬁaﬂ thereof "\ SN —
([ After 5 p.m. J Q $3.00 per entry . |
/ M~ . . N sl }
/ . N e
‘a)’FIB’vr much must Mr Rich pay if he p:arked his car there from 3.45 pm fo

545 pm? -
(bY tutr- Poot drove into the car parkat 1180 am. He fount that he had only

$4.30 with him. What was the lajest tm\?hp had to leave the car park so that
he could pay the car park charges?

H

Ansia> 0 {2m)
o {2



44

A goatis bed to a stationary pole using a 1.5 n3y rope. It eats 1 square
meire of grass in 12 minutes. Find the time taken i it is {0 eat all the grass
within its reach Give your answer correct (o ine nearest minute.

(Take n = 3,14)



45 In the figure beiow, ABCD is a b6-cm square. E is the mid-point of BC and
i is the mid-point of DC. X and Y are quantar circles and Z is & semi-circle,

- g 22
Find the shaded area. {Take = = - )

|
t
f
|
i
!
[

o
M
T

Ane (A

[SNSY
~e
L



46

There are twe ting of candies, Y and Z. The ratio of the weight of Y
to the weightof Zis 4: 1. If 26 g of candies is transferred from Y
to Z, the ratic af-the weight ot Y to the weight 2f Zis 7 1 &

Find the total weigh! of the two tins of candies. '

1



47 Mr Merry is paid $1.10 for every Christmas tres he plants. He receives
a bonus of $20 for every 160 trees he plants. How many Christmas trees
must he plant to earn $10027

Ans; , {5

28



A8 Harrod is 1 m shorder than his father and hatf 2s talt as his mather. His father
is taller than his mother by 20 cm.

(a) What is the average height of the three ?
{b) Wha! fraction of his father's height is Harrot's height?

Ans.{a) ~ (drn)
b} ) (1m}

21



49 A car and a van were travelling from Town £ fo Town Q which were
480 km apart. The van.left Town P at 8.15 am and drove towards Town Q «

‘ S ! atan
average speed of of 84 km/h. The car sel off 1 hour laterthan the van but i ardvad
at Town Q 15 minutes earlier.

(8) At what tim e car ariive at Town Q7
(b) How much(faster &ao the car travelling than the var per hour 7

Ansnhay _ (G

by o em)



50 The cost of building a cupboard is as foliows: $300 for wood, $280 for paint apd
$240 tor wages. If the costs of paint and wages are increased by 20% each
Y02

and the cost of wood is decreased by 20%, find the nercentage increase or
decrease i the sost of building a cupboard.

Ans: {8

THE END
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